T 0500 Y St v

L 5 1907 3 i ke e w0 onaen T Pl 9 3 @ o

T ¥ e wig @ et (o i o o § e @

FYA-I1 1916 T afte sifirdm o wiivg ¥ < gz, S e o T deoft F Forera @
T ¥ sy #) sngern ., for ¥ &

(A) weF-1, 11, 11 vt we #

(B) #[-1, 11, 111 w’tnaa%

(C) -1, I W&t & foreg wya-111 o ¥

(D) FoA-1, 11 7Tera € farmg wom-111 @t &

Choose the correct option after reading following statements :

Statement-I  : In 1907, Congress’s Annual Session was presided by Rash Behari

Ghosh

Statement-II : In this session, Congress got divided into two groups (Moderates

and Extremists)

Statement-III : In Congress’s Annual Session of 1916, two groups (Moderates and

Extremists) got united. This session was presided by S. P. Sinha

(A) Statement-I, II and III all are true
(B) Statement-I, II and III all are false
(C) Statement-I, IT are true but Statement-III is false

(D) Statement-1, II are false but Statement-III is true
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T Hol 1 et wEt fames w1 gAE H

o
FEA-1 : fEE yrd s w1 gow v 1871 # fRE T

FE-IT ;6 1881 ¥ gyey SO U Frafia seen 89 TR »
FE-ML : 1900 | 1940 F A9 40 el ¥ <M wed e 0 A=

10% ¥ s+ 18% &
(A) F¥3-1, I1, 11 9 wet &
(B) a1 FuA-1 wat ¥
(C) waet Hu3-11 W& &
(D) =t FyF-111 §et
Read the following statements and choose the correct option :
Statement-I  : First All India Census was attempted in 1871

Statement-Il : From 1881 onwards decennial censuses became a regular feature

Statement-II1 : In forty years from 1900 to 1940, urban population increased

from 10% of total population to 18%
(A) Statement-I, II, III all are true
(B) Only Statement-I is true
(C) Only Statement-II is true

(D) Only Statement-III is true
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T TS ST, 1953 % wad o Py wol W frR W ge W wen T

®OT-1 e wow o, ¥ un whEE s a §oE T a3

-1 3 3 v st o & faqayree @1 gwdE R

FAA-I1 : ¥52 W g 7 yrled &, 1956 ¥ 89 14 T 7 6 H WA §F T
™

S § ¥ -9/ $H-8 99 g8 /82

(A) 1,11 3R 111

(B) 13RI

(C) = 1

(D) 1 &Rl

Read the following statements with reference t0 State Reorganization Commission,
1953 and choose the correct option :

Statement-I  : Justice Fazl Ali, K. M. Panikkar and Hridaynath Kunzru were its

member
Statement-II : Commission supported the splitting of Bombay and Punjab

Statement-IIl : As per State Reorganization Act, 1956 passed by Parliament,

14 States and 6 centrally administered States were made
From the statements given above, which is/are true?
(A) 1, 11 and III
(B) IandII
(C) Only I

(D) I and III
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YRa % qd ger aEHiv

wet #/€?
-1 :ammmaﬁwwawmm%qammﬁﬂﬁmﬁﬁ%

FUF-I : } o 9% GaQ o Ay T

FUTI : vt Frgfir o woftan Yg@t 3 1 o

SRIF ¥ ¥ BH-7/H-Q o wE Y E?

(A) L 11 sk

(B) 1sR1I

©) Iskm

(D) Faw II

Which of the following statements is/are true about previous Chief Justice of India,

Yashwant Vishnu Chandrachud?
Statement-I : He was 16th Chief Justice of India

Statement-II : Till date, he is the longest serving Chief Justice of India

Statement-III : He was appointed by Neelam Sanjiva Reddy
From the statements given above, which is/are true?

(A) L II and III

(B) IandII
(C) Iand III

(D) Only II

mmm_%ﬁqw%g@wﬁmﬁwﬁ?

(A) T 7 gl (B) T TR a1g

(C) "M Foerd Y (D) #7a TR fig

Who was the Chief Justice of India for the shortest duration?

(A) Rajendra Mal Lodha (B) S. Rajendra Baby
(C) Gopal Ballav Pattanajk (D) Kamal Narain Singh
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(A)
(B)
(©)

(D)

TE TS S wn (1977-79) wm =&vm W oo

T W 427 SRV wvis § wzem fem

¥ oA mqﬁwmwmmwﬁnmmm o=
mm%mmﬂﬁmmw*wﬁm%mm
WS mEE t o ww wqw e b

What is net true about the 44th Constitutional Amendment?

(A)
(B)

(C)

(D)

This amendment was brought in by Janata Government (1977-79)

With this constitutional amendment, changes in 42nd Constitutional Amendment
was made

Through this amendment first time it was made clear in Constitution that
President cannot act against the advice of Council of Ministers

As per this amendment President can return the advice of Council of Mimisters
for reconsideration as many times as he want till he is satisfied

afe fael #rol & wRa ¥ mgufa F sufafa § swrgefs wefr = F w5 e
w@ &, @ 39 Iy & W § SH-gy/RH-¥ wed wE /¥?

(i)
i)
' i)

1A)
(C)

T Fafy o Igueels o5y §w & gyfa 99 @

79 afy & foq svagefa = wgafa & a9 foem

Ifz z9 srafy § syusgefa @res @ 23 €, @ WRa F YR =T Teha % 9w
w1 frdes &

(i), (if) S (iii) -~ (B) (i) 3 (i)

(ii) 3 (i) (D) a4 (i)

If Vice-President of India has to discharge the duties of President of India in his
absence due to some reasons, then what is/are true for such duration’

(1)

(if)
(iif)

(A)
©

In this duration, Vice-President holds the post of Chairman of Council of
States
In this duration, Vice-President will get the emolument of President

If in this duration, Vice-President resigns, then Chief Justice of [ndia will perform
the duties of President of India

(i), (if) and (iii) (B) (#) and (if)

(i) and (iii) (D) Only (i)

(7] CQRP- 1
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\AD ﬁﬁaﬁﬁﬂwmwﬁm,ﬁ?ﬂﬂﬁwwﬁﬁmmﬁﬁw§
forg = & |

(i) et st feofy & omaey = SUgwTd Wqd 1 B A

(i) S & fore 3 v & g T @1 g-ga (U6th) F T ()

&ydT el B el &

BN =fey
(A) ), (i) 3R (iii) (B) (i) 3 (ii)
(©) (i) iR (iii) (D) T § HI§ TEl

Which of the following statements is/are true in reference to the joint sitting of

Parliament for passage of bill?

(i) Provision for joint sitting is applicable for ordinary bills, financial bills and
constitutional amendment bills

(if) In no situation, Deputy Chairman of Rajya Sabha can preside over the joint
sitting ‘

(7i7) Quorum of 1/6th of the total number of members of both Houses to

be maintained for joint sitting

(A) (i), (ii) and (i) ‘ (B) (i) and (if)
(C) (i) and (i) (D) None of these
9, fre # ¥ form T § wIha &l Wo§ S Wi sy Sofa & fe eifag §)
(A) TR Fe (B) sifewm
(C) FRE"S (D) W wew
From which of the following States, maximum number of seats are reserved for
Scheduled Tribes in Lok Sabha?
(A) Uttar Pradesh (B) Odisha
(C) Jharkhand (D) Madhya Pradesh
s 8] CQRP. 1




11.

Wwhich of the following Committee

Sabha?
(A) Committee on Social Justice and Emp

(B) Committee on Urban Development

owerrnent

(©) Committee on Labour
n Health and Family Welfare

o § gy -8 FH et ¥/€7

(D) Committee O

1 SqEvTfd W8 6 @ (ex-officio) AN B

%
(A) (), (if) 3 (iid) @®) () 3 (@)
(€) %4 (i) (D) “ad (iii)

In reference to Indian Parliamentary Group, which of the following statements

is/are true?

(i) It is not an autonomous body
' \

(i) Former Members of Parliament can become its memb
er

(iii) Deputy Speaker of Lok Sabh
a and De u C g : ,
ex-officio Vice-Presidents puty Chairman of Rajya Sabha are 1t

(A) (i), (i) and (iii)
(B) (i) and (ii
(C) Onl &
uly (i) (D) Only (iii)

[9
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12. T %= wifes v o v 9 & o & @ wE frem

& R wder
(@) wrEy
(0) T #ik iy
(€) =g

(@) <= ok AR wde

@ @)
@ 6 G
B ) )
NO ) G
@) G (i)

Match the following Union Territories with thejr years of creation :

(c)
(iii)
(ii)
(iii)
(ii)

Union Territories

(a) Lakshadweep

formr o a
(i) 1961
(il) 1966
(i) 1962
@) 1956
(d)
(iv)
@
@
()

Years of Creation

(@) 1961
() Daman and Diy (i) 1966
(¢) Chandigarh (iii) 1962
(d) Dadra and Nagar Havelj (iv) 1956
@ ® @© @
A) O @) (i) (iv)
B) @) (i) (if) 0)
© ™ G i (i)
D@ & G ) (iv)
[0y
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13. a4 f9en & "o o $h-u/ae-2 ud 2/82

() w&w @WEw foen uftvg § 30 wow @

(i) @ e wReg & 24 Gew gaeE % g0 g7 90§ a9 99 6 ToqR g A
e ¥

(iii) W ¥ @ foel ¥ Wl wOg g Wi & A PR 0w fuER
TSI & I &

(A) (), (i) 3R (i)

(B) (i) ¥ (iii)

© () R i)

(D) & (i)

What is/are true in relation to Autonomous Districts?

(i) Each Autonomous District Council has 30 members

(ii) 24 members of Autonomous District Council are elected via voting and rest 6 are

nominated by Governor

(iii) Rights to direct the Acts passed by Parliament of India in Autonomous Districts

.of Assam lies with Governor

(A) (), (i) and (iii)
(B) (i) and (iii)
(C) (i) and (i)

(D) Only (i)
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4. o9 s % wesf # wi-qy/A-Q W& UE?

() omam ¥ g9 5 e B # e i
() M ¥ m-9-%9 uF ge= € S A g

- i) S seny g frge T R ST e

AWV) ST % worm steny &, gerw 9
(A) (@), i) 3tk (iv) (B) (i), (i) 3R (iii)
©) @) s ip (D) %a& (i)
What is/are true in reference to the Finance Commission?
()  There are tota] 5 members in Commission

(i1) At least one member of Commission

must be Judge of High Court or Supreme
Court

(iii)

(#v) First Chairman of Commission was K. Santhanam
A) ), (i) and (iv)
(©) () and (iif)

The Chairman of Commission cannot be reappointed

B) (), (i) and (iis)
(D) Only (;)
15. ﬁwﬁﬁﬁq—mﬁauﬁﬂﬁ%?

(A) 2 oy - e

(B) I=d WA - =i

(C) e iR Wl - Wy

«(D) 9RY 3=t Wy - ME {9, Frerpm
Which of the following is noet

the correct match?
(A) Central Railway - Mumba;

(B) Western Railway - Churchgate )(
(C) North Frontier Railway - Pl‘&yagraj

(D) South Eastern Railway - Garden Reach, Kolkata

- e s 2o
A

__---_-_—-_-_-_
[12] CQRP.
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16. SAfTFE—2020 % wary § s-g/FH- @ Y E?
() WWa ¥ 121 faenfedi ¥ shefimeg—2020 § fewan fomn
(i) W ¥ Fydt ¥ sawied w1 aet ofeen faefed =t den gov foafed &

ST o
(iif) ¥MRA 3 $ 18 Well ¥ W o
(A) (i), (i) 3 (i) (B) (i) ¥ (iii)
©) (@) 3R i) (D) % (i)

In relation to Olympics—2020, what is/are correct?
(i) From India 121 players participated in Olympics—2020

(i)) From India number of female players qualified in wrestling was more than male

players
(iif) India participated in total 18 sports

(A) (@), (7)) and (i) ‘ (B) (i) and (ifi)
(C) (i) and (i) (D) Only (i)

17. ﬁm%ﬁugﬁz&aﬁﬁuﬁmﬁ%aﬁwmﬁwﬁ(ﬁﬁw&uﬁw
§311,T=IE"~FW@I‘1F@T31TII‘1T):
(A) %= Y, faeersd, 4UE o, sirefeam A
(B) fameres, %= 3%, .04 airm, referam aiea
(C) forarered, 4,04, 3idq, %= 0, et e
(D) stefaa om, = oitw, faaered, 40, Il

Arrange the following Tennis Tournaments in chronological order of their starting
years (one which started earliest, will come first) :

(A) French Open, Wimbledon, US Open, Australian Open

(B) Wimbledon, French Open, US Open, Australian Open

(C) Wimbledon, US Open, French Open, Australian Open

(D) Australian Open, French Open, Wimbledon, US Open

A [13] CQRP- 1



18.

19.

20.

qummtmﬁwuﬁwﬂ%?
(A) aa o i ‘GNU’s Not Unix’ #

(B) To o fead wre 4 &t of

(€) 7 T i g Wi ¥

(D) & Unix ¥ W wieifeae T ¢

What is not true about GNU operating system?
(A) Its full form is ‘GNU’s Not Unix’

(B) It was started by Richard Stallman

(C) It’s an open source software
(D) It is not compatible with Unix

feftegee feTmet oifw qféfg (DDoS) #é% =1 8 7

(A) TH FX W (B) TH WIEeR 37
(C) = fafedt atw fawn (D) T ¥ ¢ 7
What is Distributed Denial of Service (DDoS) attack?

(A) A computer game (B) A cyber attack
(C) A millitary attack system (D) None of these

NavIC &1 & ®iH & :

(A) i faeRe =Ewa s
(B) e fag 3f=aa wievm

(C) Afaiem fag sfeam wrea

(D) Afgiem fag 3fega HismaeH

Full form of NavIC is :
(A) Navigation without International Control

(B) Navigation with Indian Constellation
(C) Navigation with Indian Coastal
(D) Navigation with Indian Cooperation

[14]
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23,

© T s wehm smiin 3 fy o

(D) WWﬂWmﬁm@?ﬁ%
What is
(A)

not true about FM (Frequency Modulation) radio waves?

Frequency fange of Frequency Modulation is lower than that of Amplitude
Modulation

(B) Amplitude and phase do not change in it
(C) It was invented by Edwin Armstrong

(D) Its bandwidth is higher than that of Amplitude Modulation
FRAA-2 AEE F o § o gl A o

(A) ToH! Wiefa gursst T fie 3 & o
(B) 88 ¥ M YR w1 AW W o7

AC) W AT F wmw F w0 ya # = ¥ fau afe fe T

(D) =W fEm ¥ fawn dex =1 s fe

What is net true about Chandrayaan-2 Mission?

(A) It was approved by Prime Minister Manmohan Singh

(B) Rover sent in this mission was named Pragyan

(C) In this mission Lunar North Pole was targetted for exploration
(D) Vikram Lander was used in this mission

Wﬁammmwﬁ%mmaﬁwmmm
(A) 1 ml (B) 2 ml
(C) 0.5 ml (D) 1.5 ml

What is the volume of each dose of Covishield Vaccine given to adults?

(A) 1 ml (B) 2 ml
(C) 0.5 ml (D) 1.5 ml

[15] CQRP -
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25.

= 4 ¥ SF-g/aR- e /82

() TEEH T F A T W T F A WG
(i) T Y T o et o 8

(i) IR 'z siw wiiesa’ TwE U oS g ol
(A) @, (i) stk i) (B) () M (i)
©) @) 3 (if) (D) & (i)
What is/are correct améng the following?

() Galwan river was named after Ghulam Rassul Galwan
(#1) Ghulam Rassul Galwan was a Laddakhi explorer

(iii) He wrote a book in English named ‘Servants of Sahibs’

(A) (i), (i) and (iii) (B) (i) and (if)

(©) (i) and (iii) (D) Only (i)
mmmﬁw%wﬁmmmmﬁmm%mm
ST X TR R €1 v el et fen s 2

(A) =7, afterrg

(B) F[, ¥

(C) TR, WERrE

(D) =irea, TSR

Governments of India and Portugal have signed a memorandum of understanding
to develop a National Maritime Heritage Complex in India. This will be developed
where?

(A) Chennai, Tamil Nadu
(B) Kannur, Kerala
(C) Palghar, Maharashtra
(D) Lothal, Gujarat

[16] CQRP- 1



26.

27.

i i fetr werw & waol § w W W ¥?

(A) 39 B & fou sifirray 3y dimr 65 a9 ®

(B) &% =% 3% Wiw ®ife) =1 wrh gy aidl €

(C) =% am sifuwew URwg 1 sreae A §

(D) =% T&m Ao Wi #1 9E g ©

What is not true in reference to Chief of Defence Staff?

(A) Maximum age limit for this post is 65 years

(B) He is permanent Chairman of Chief of Staff Committee

(C) He is Chairman of Defence Acquisition Council

(D) He is member of Defence Planning Committee

firer wuAl Y et wel fased g ¢

() T fage 1800 ¥ 1805 3 H gem

(i) T faRe &1 Agea wAea A R
(iii)wmﬁﬁgﬂﬁqamwﬁm

(iv) e, it s % faa 4

St § @ FE-a/ER-8 s we WE?

B) (), (i0) 3 (i)
(D) Fa (i)

(A) (), (i) R (i)
(€) () 3 (i)
Read the following statements and choose the correct option :
(i) Ganjam Revolt occurred during AD 1800 to 1805

(if) Ganjam Revolt was led by Dhananjay

(iii) Revolt of Gumsur was led by Shrikar Bhanja

(iv) Dhananjay was father of Shrikar Bhanja

Which of the above statements is/are true?

(A) (i), (if) and (iii) (B) (i), (ii) and (iv)
(C) () and (i) (D) Only (i)

[17]
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28. wahwwﬁﬂzaﬁqﬁwmw)tmﬁﬁﬂm#fﬂﬂwvﬁﬁmﬂﬁ:

W) =8 St & werme maf s #) sehofe eg ¥ $9 Tl 9 dern ;)
i

() Tfa fotor % foe ofifien weell 3 wen wn-2-%9 6 3R HE-3-arfirg
NFH

(Fif) Wi 3 F=hr fawelt o fobh e @1 SYewr T T T
T A R BR-m - T e )

(A) (). @) 3R (i)

B) (i) 3 (iif)

©) (i) 3R (iin)

(D) =& (j)

Read the following statements with reference to the Indian Councils Act (1861) and

choose the correct option :
(1)  As a result of this Act, total members of Executive Council of Governor General

became 7
(i) For legislative work, number of additional members could be minimum of

6 and maximum of 12

(iif) No differentiation was made between State and Central subjects
Which of the above statements is/are true?

(A) (i), (if) and (iii)

(B) (ii) and (iii)

(C) (i) and (iii)

(D) Only (i)

A [18] CQRP- 1



29. WA URER sfufrem, 1892 % wary § Frer wE B Ta W e o ¢
() T 20 ¥, 1892 M @ fwan T
() 9 24 wewll § ¥ in-wew wowl # den s of
(iil) TR B T 9 e F R fo T
SR # ¥ B/ FA-Y T v 3/
(A) (), (i) 3R (i)
(B) (i) ¥R (i)
©) (@) ¥ (i)
(D) 3w (ii)
Read the following statements with respect to the Indian Councils Act, 1892 and
choose the correct option :
(i) It was implemented on 20th June, 1892
(i) Out of total 24 members, 5 were non-government members
(iiiy Members were given rights to ask supplementary questions
Which of the above statements is/are true?
(A) (i), (if) and (iii) |
)
(B) (i) and - (ii)
(C) (i) and (iii)

(D) Only (i)

[19] "CQRP-



0. B Fv # mmr o fmen ® T A
o] .a@.me{mw%m*%‘ﬂnﬁm%m
UL T T o F O R AR BSET, i
wfafer o adw o & fawfra faem s ©

(A) F98-| T8 F93-1] 27 we §

(B) F9-1 T@ Fv-1] 241 aww ¥

(©) #9179 § o w11 argm }

D) F-1 3E™ ¢ v wva-1] ge d

Read the following statements and choose the correct option :

Ntatement-l  : J. D. Dana prepared a special Geological Time Scale to indicate
the geological history of Indian subcontinent rocks

Statement-I1 : As per Geological Time Scale, Indian rocks are subdivided into
Archean, Puranic, Dravidian and Aryan periods

(A) Statement-1 and Statement-11 both are true

(B) Statement-l and Statement-II both are false

(C) Statement-1 is true but Statement-II is false

(D) Statement-I is false but Statement-I[ is true

3. T T F W wewas WO, W e t a ww wed e
(A) FeIfEa > @it > wmifed > e > s
(B) m>mpm>m}m
(C) vfEa > arfem > @r2ifes > wrfed > et
(D) #efe > e > erRfes > grife > gife
Choose the correct chronological order of given Epochs, oldest one will come first -
(A) Holocene > Pleistocene > Pliocene > Miocene > Focene
(B) Eocene - Miocene > Phocene > Pleistocene > Holocene
(C) Eocene > Miocene > Pleistocene > Pliocene > Holocene
(D) Holocene > Pliocene > Pleistocene > Miocene > Eocene
A [20) CQRP- 1
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32. Frefafen yifes e we ®) 3% @@ @ @ firem =5t

e ferrerm et
(a) U7 F1s S us
(b) Terenferes ek
(©) wWMdere ud
(@) TR

(a) (5)
(A) (i) (i)
B) @) (iti)
C) (i) (iv)
(D) (i) (if)

M
() Seremn
(i) feadrome
(iif)  fereferaeedt
(iv) faoik
(©) @
(iii) (iv)
(#) (@)
(i) 0]
(v) ()

Match the following geological heritage sites with their locations :

Geological Heritage Sites

(a
(b) Shivalik Park

o

(c) Stromatolite Park

(d) Lonar Lake

(a) (&)
a O (if)
B) () (iif)
© (i) (iv)
D) - (i) (i)

Locations

National Fossil Wood Park (i) Buldhana

(ii) Chittaurgarh
(iif) Tiruchirappalli

(iv) Sirmaur

(c) (@)
(i) (v)
@ . G)
(if) (i)
(iv) (i)
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33.

34.

e oAl & omuR W R fawey @1 g9 H

®UA-1 . @ famdfE (Plate Tectonics) 1 g 1967 # H. H. Hess 7 feay o
FA ok fedftE fogr wg oo e frgm ® eeia @

(A) F-1 T HoA-11 341 v §

(B) -1 wd &eF-11 1 orqe

(C) -1 ¥ ¥ W wYA-11 ooy ¥

(D) FuA-] F § W FoA-11 94 &

Based on following statements choose the correct option :
Statement-I : Theory of Plate Tectonics was given by H. H. Hess in 1967

Statement-II : Theory of Plate Tectonics is based on Theory of Seafloor Spreading
(A) Statement-I and Statement-II both are true

(B) Statemeni—] and Statement-II both are false
(C) Statement-I is true but Statement-II is false

(D) Statement-I is false but Statement-II is true

Frfafes ferdt =t s omard & wed ww o wend
(A) ﬁm>ﬁw>@m>amﬁmﬂ>miﬂ
(B) feew > =i g > fasmd > ot > swr forrd
(C) TewR > fasmel > Zim g > Wt > ar ferd
(D) fasmdl > fewr > aw Rt > e > 5T g0

Arrange the following glaciers in decreasing order of their lengths :
(A) Biafo > Hispar > Sonapani > Bara Shigri > Drang Drung
(B) Hispar > Drang Drung > Biafo > Sonapani > Bara Shigri
(C) Hispar > Biafo > Drang Drung > Sonapani > Bara Shigri
(D) Biafo > Hispar > Bara Shigri > Sonapani > Drang Drung

[22]




35. frfefaa Tl ) w=f fififs w2 i #t Yo ¥ MR W WA HA F TR

36.

(A) W TRV > o > YA > AT > Y g2
(B) TSUE > 9y Y39 > oy > oY yew > qerHE
(C) TU@ > H¥g YR > Yoy > Al > 3Ny He
(D) W YW > TN > JaAM > o > Y W
Arrange the following States in descending order with respect to number of large

dams constructed there :

(A) Madhya Pradesh > Gujarat > Rajasthan > Telangana > Andhra Pradesh

(B) Gujarat > Madhya Pradesh > Rajasthan > Andhra Pradesh > Telangana

(C) Gujarat > Madhya Pradesh > Rajasthan > Telangana > Andhra Pradesh

(D) Madhya Pradesh > Gujarat > Telangana > Rajasthan > Andhra Pradeslh

g TE A, COP26 sy § wira g &t i whrergan % waod & w0 Wt T ¢ 7
(A) WRd 2030 9 FTE I § T faferdd =7 a6 1 HH HOW

(B) wzosoﬁmmamﬁmeowﬁrmqﬁfaqmmﬁm

(C) ST 2030 A% YA R-SaH el &l B 500 TMER T qGT A

(D) wwimd § @ Y A
What is not true about commitment made by India at UNFCC COP26 Conference?

(A) By 2030, India will reduce its carbon emission by one billion tons

(B) By 2030, India will meet 60% of its total energy requirement by renewable

energy

(C) By 2030, India will increase its non-fossil energy capacity to 500 gigawatts

(D) None of the above

-"‘-'h-._-_-__

A
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37 ﬁmﬁaf‘cqﬂa:ﬁaﬁ’fl 'ﬂmm%wugﬁﬁﬂﬁﬁmmﬁﬁwﬁFmNmm

o mar ¥
w_l ﬁiﬂ"“
(a) Gofta SErarear (9 el |
(b) gfem AR (i) ke TR (aferd )
(c). oereft =t (iif) wfeea oo Foen
(d) farsiran =shard (iv) HIS
(@ (%) © @)
(A) () @) (i) ()
(B) (i) (v) () (i0)

©) @ (iid) (v) (@)

D) (i) (i) (iv) (i)

Match the following personalities with their fields in which they have been awarded
Padma Shri-2021 :

List-I List-11
(@) Sujit Chattopadhyay () Art
(5) Tsultrim Chonjor (i) Public Affairs
(c) Pumnamasi Jani (#ii) Literature and Education
(d) Bijoya Chakravarty (iv) Social Work

@ ® © @
w0 @ G W
® GO @
©) @) (i) () (if)
© @ 0w @

[24] | : CQRP- 1
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38. "SI0 R T e e A 4 o o & TEE ¥
(A) T
(B) i
(C) foewma © "
‘Fair and Remunerative Price’ is related to which of the following crops?
(A) Sugarcane (B) Paddy
(C) Oilseeds (D) Wheat
39. ol T EHH (WPI) & e # fafififa sene 1 wee (sf ®) fre @72
(A) 62.43% (B) 64.23%
(C) 63.43% (D) 60.23%
What is the weightage (in percent) of manufactured products in calculation of
Wholesale Price Index (WPI)?
(A) 62.43% (B) 64.23%
(C) 63.43% (D) 60.23%
40. mﬁ@agmaﬁﬂammﬁwwmﬁmﬁwmqﬁmmmmz
fapam ® 2
(A) 2.75%, 2.63%
(B) 2.63%, 2.75%
(C) 2.36%, 2.75%
(D) 2.36%, 2.57%
What are the special drawing rights percentage and vote percentage respectively of
India in International Monetary Fund (IMF)?
(A) 2.75%, 2.63%
(B) 2.63%, 2.75%
€) 2.36%, 2.75%
(D) 2.36%, 2.57%
i
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41.

42,

a;quﬂtﬁzﬂmﬁ
# eI Chl
anfefer gaamor 2020-21 %?WWM o

TN

(A) W>nwﬁm>ﬁﬁﬁ??ﬁw
(B) qwgﬁﬂp‘ﬂﬁ'{lﬂ}w} g
(€) W}m}'ﬁmm} gfeamn

(D) weA W > T > R > P

y 2020-21, arrange the following States in decreasing order

As per Economic Surve

of milk production :
(A) Gujarat > Madhya Pradesh > Punjab > Haryana

(E;) Madhya Pradesh > Gujarat > Punjab > Haryana
(C) Gujarat > Punjab > Madhya Pradesh > Haryana
(D) Madhya Pradesh > Gujarat > Haryana > Punjab

R ¥ gy # T wet i 22

(A) T (Virus) VI UF T AIGHEEGIRE TH, T, 9cH & e g §

(B) =A% #1 feei TGS SHM RNA 372/ DNA eneifia 81 Wkl 8

(C) DNA amwifiq oy sfumiva: fire €= e &

(p)RNAmTHrﬁﬁmﬂwDNAaﬂmﬁamqmﬁngﬁ Aftes  safTR
RadT (FgevH) w §

What is not true about virus?

(A) Virus term was coined by Dutch microbiologist M. W. Beijerinck

(B) Nucleic acid genome of virus can be DNA or RNA-based

(C) DNA-based viruses are usually single-stranded

(D) RNA-based viruses accumulate more genetic changes (mutations) as compared

to DNA-based viruses

[26) CQRP- 1



43. TN T (2015-16) & gl § Fr-w/ B4 T R/E?
() 9 3R Hinia o ot frar o 86.2 T § a9 A 47.3 IR FHA
W (F9 wOR A3 F1) F Ao §
(i) TR PR W H dew F SR W AEE AR WH R
(i) TR o At T oy e & SMER A FH T R
(A) (), (i) 3R (iid)
®) () s Gl
©) (i) 3 (i)

(D) =@ (i)

What is/are true in reference to Agriculture Census (2015-16)?

(i) Small and marginal farmers are 86.2% of total farmers whereas they hold only
47.3% of farm land (out of total farm land)

(i) Statewise, based on total number of farmers, Maharashtra is at third position

(iii) Statewise, based on total farmed land area, Rajasthan is at first position

(A) (i), (ii) and (i)
B) (i) and (ii)
(C) (i) and (if)

(D) Only (i)

A [27] " CQRP- 1




44, B 4 o SRl 3 e R G A SRS % S % o

T 5t ?
(/) T H I dqeH W
() FR A TS FET SrsiaEe T oiE T W

(i) FW F IR g1 w1 oA TgH ¥
(iv) FR F TR ¥ fa sgame fFy ol Fe eretfamrEs 9 SR W

(A) (i) 3t (iif)
(B) (iii) R (iv)
(©) (i) 3R (iti)
(D) (i) 3R (ii)
In which of the following conditions distance between molecules of carbon dioxide
filled in a container may increase?

(1) On increasing the volume of container

(@) On leakage of some carbon dioxide gas from the container

(7ii) On increasing air pressure in the container

(iv) On adding more carbon dioxide gas in container without changing its size

(A) (ii) and (iii)

(B) (iii) and (iv)

(C) (7) and (i)

(D) (i) and (i)

? L%8] CQRP- 1



4. TR S st g s,

MR Twa qinded 35 A, ¥, A aw 3 fah, g @

q faeam 9T ey o
(A) 214 VFvg ) 214
(C) 12.4 9=vg 1 ‘ 5 ) 1'24

A sound w
ave has frequency of 4 kHz and its wavelength is 35 cm, then how much

time will it take to travel a distance of 3 km?
) 214 geo (B) 2.14 sec

(C) 12.4 sec (D) 1.24 sec

46. BN % foee F weo F al-gy a9 wuT 99 2

(i) IR To F o wR wE ot A e § fafed @

(if) SAFHSA & 3w § yrrede Afes ofaes ¥ w9 § ofafda & @

(iii) Ao F ety § urede e srslFERe IR 3l ¥ w9 A ofEfda
g &

(A) (D), (i) 3 (iii)

(B) (i) 3 (i)

(C) (i) 3R (iii)

(D) *adA (iii)

Which of the following statements is/are true in reference to break-down of glucose?

F'\J

plasm, glucose breaks down into pyruvate which has four carbon

(i) In cyto

molecules
pyruvate gets converted to lactic acid

(i) Due to lack of oxygen .
rted to carbon dioxide and ethanol

(iii) In absence of oxygen, pyruvate gets conve
(A) (i), (i) and (ifd)

(B) (i) and (i)

(C) (i) and (iii)

D) Only (i) :
(D) Only € i e



47. SR oik wiefit Twel # g=d § SHE-w/H-9 wdt & ?

48.

49.

() T Wpfien ok Fm R We # TE ¥

(i) Safii ¥ 18 qen wiefiit § 15 T §

(iti) Wi g g e & fag wfas €

(A) (@), (i) 3R (iii) (B) (i) 3R (iii)

(€) (&) 3R (i) (D) ¥Fae (i)

What is/are correct in reference to Udayagiri and Khandagiri caves?
(i) It has both natural and artificial caves

(#) Udayagiri has 18 and Khandagiri has 15 caves
(711) Khandagiri caves are famous for Hathigumpha inscription

(A) (i), (i) and (iii) (B) (i) and (iii)
(©) () and (i) (D) Only (i)
‘fergfemm’ & wfm 99 &2

(A) AT (B) rEmE

©) =gsy (D) T

Who is the author of ‘Visuddhimagga’?

(A) Nagarjuna (B) Padmasambhav
(C) Vasubandhu (D) Buddhaghosa

"THER Wk WRAT [ER ¥ wE § g 9 &2

(A) wwwaﬁaaﬁq}vﬂawﬁ%awwﬁﬁmmm%
(B) % USh W ‘TR a9’ * 9K Whipfy sifed ot

(©) 31 fewwm, 2021 T 25 A W WoER TH YW R W1 g 3

(D) 39 GWFR #I 26 e, 1952 $t wenfyg fmar T

What is true about gallantry award ‘Param Vir Chakra’?

(A) This award can be given to an individual only once in his/her lifetime

(B) On its medal, four replicas of ‘Indra Vajra’ are embossed

(C) Till 31st December, 2021, 25 people have been awarded with Param Vir Chakra
(D) This award was instituted on 26th January, 1952

[30] CQRP- 1



50. = FIR Fenel w1 3 wafag T @ g I

HITE TN
(a) gamﬂ-
(b) T
(©) =g
(@) wTEE
(@)
. (A) (@)
(B) (if).
+ (C) ()
(D) (if)

Match the following embroidery arts with their related States :

Embroidery Arts

(a) Phulkari
(b) Dharaniya
(¢) Kasuti

(d) Karchobi

(b)
(i)
(iv)

(iif) .

(iv)

=

(i) FAeH

(i) =

(i) T

() T
©) (d)
(iii) (iv)
Gy 0
(ii) (iv)
(i) (iii)

States

(i) Karnataka

(i) Punjab

(#1i) Rajasthan
(iv) Gujarat

(a) (b (©) (@)
(A) () (11) (i) (iv)
(B) (if) (iv) (iif) ()
©) () (iii) (i) (iv)
(D) (i) (iv) () (iif)
A [31] CQRP -
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e e Ry S § getud 87

51.
(A) H9R (B) &
(©) sifirm - (D) T
Which tribe is related to Lal Bangla?
(A) Kamar (B) Baiga
(C) Bhunjia (D) Pando
52. <M & w1 e faw 9§ foug &2
(A) s (B) =ifean
©) FER (D) FERHR
Shrine of Chang Devi is situated in which district?
(A) Surguja | (B) Koriya
(C) Surajpur (D) Balrampur
53. T §W&ER 7 gm0 Wegfa & www & forg fe feadl W wmatE s St fear
g2
(A) wf, dis (B) &ui et
(C) fava snfeardt feaw (D) S |
On which of the following days the State Government declared public holiday for
the preservation of rural culture?
(A) Hareli, Teej (B) Karma Jayanti
(C) Vishwa Adivasi Diwas (D) All of the above
54. weitee W WEdl SR ‘U SfeERt T weewa’ # SIS Te fRar wan?
(A) 27 9§ 29 3R, 2019 (B) 29 ¥ 30 qER, 2019
(C) 27 9 29 fe@m=r, 2019 (D) 25 | 28 3RS, 2020
When for the first time ‘Rashtriya Adiwasi Nritya Mahotsava’ was organized in
Chhattisgarh?
(A) 27 to 29 October, 2019 (B) 29 to 30 November, 2019
(C) 27 to 29 December, 2019 (D) 25 to 28 October, 2020
A

[32] CQRP- 1



55, T TGS ¥ ‘e qveE’ 5 feg o S T 2
(A) THIDB-THeAl HATHR
B) fufa faa Fem=w
(C) weRiwe A TehgE & e
(D) AHTE FHEAHR
For which reason ‘Chendru Mandavi’ of village Garhbengal is known?
(A) Artist of Wood-craft
(B) Artist of Mural Art
(C) The First hero of Hollywood from Bastar region
(D) Artist of folk dance
56, fret wyAl @ ggad wEl fased 9T ¢
(i) Wwﬁaﬁﬁwﬁﬁammaﬁaawmﬁ%l
(ii) Ha e & H A TH TR o
(A) o ¥ ¥
(B) i @A €
(C) ¥ae (i) ¥4 ¥
(D) Fad (i) 99 ¥
Read the following sentences and choose the correct option :
(/) Rajmata Fulwa Devi Kange is related to famous tribal personality Kangla Manjhi.
(i) The real name of Sant Gahira Guru was Maheshwar.
(A) Both are correct
(B) Both are incorrect
(C) Only (i) is correcl
(D) Only (i) is correct
A [33] CQRP- 1



S T A &

§7. froifafes # gt =i -

e

HE

(a) My - () 4\
(b) wE= - (i) ¥R
(c) Famard - (it)) wEa
@) e -
Wl fawew w1 i

(@ () (©) (d)
A) v Gy @ 0
B & @) (V) (iif)
© @y G (V) (i)
®) @ @ g
Properly match the following :

Festival Month

(@) Aamus - (/) Chait
(b) Sarhul “ (i) Kwaar
(c) Navakhai = (iif) Sawan
(d) Dussehra - (iv) Bhadon
Choose the right option—

@ & © @
(A) vy @) Gy @)
B)y G G) (v i
© Gy G Gy @)

(D) Gy (iv)

) @)

N
TR U 0 e

Y
o



s8. TP STl 9 33 mn e avw (forem) 3 Srgere e A

e e Prare e ( Re)
(@) O e = () SteETaR- e
(®) i - (i) SR
() Togam - (iii) Tomse
(@) SeFme - (iv) A
e fawey #1 = #ifm—

(@ (&) (c) (d)

A @) G vy (i)
B) @) @O @) (v)
© @ Gy @ (v
D) G @) @) @)

Match the following Tribes according to their Main Area of Residence (District) :

Tribes Main Area of Residence (District)
(a) Hill Korwa - (i) Balodabazar-Bhatapara
(b) Bhunjia - (ii) Jashpur
(¢) Binjhwar - (iii) Gariyaband
(d) Abujhmaria - (iv) Narayanpur

Choose the right option—
@ ® © @
A) Gy Gi) vy (D)
B) (i) G () ()
© Gy G @ (@)
® vy i) 0 G

[35] CQRP- 1



59, fre7 Wil ¥ AW I qoEwl @ gafe I

virnE T
(@ #®QR% - () @
(b) wheadd - (i) RgHE FW
() Fhw - (iii) UG w7
@ T - (i) o A EN
S fawey =1 999 Hifu—

@ & © @

A O @ @ G
B) ) G) G @) A
© ™ O G G
® @ G W )

Match correctly the names of the following Rulers with their Dynasties :

(@)
(b)
(©)
(@)

Ruler

Kanhardeva

Skandvarman
Durgraj

Harshgupta

|

Choose the right option—

(A)
(B)
©
(D)

(@)
®)
(iv)
(v)
(i)

()]
(if)
(i)
()
(iii)

(©)
(iv)
(ifi)
(if)
(v)

Dynasty
(?) Nal Vansh
(i) Shﬁrabhpuriya Vansh
(#ii) Pandu Vansh
(iv) Chhindak Nag Vansh

(d)
(iii)
(i)
(iii)
@

[36] CQRP -
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61.

ST S a e

(i) SgUE (FreEE) feamw
(iii) Toese fama -

(iv) it T

wet fawew gfmu—

(A) Gv), (iid), (i), (if)

+(B) (i), (if), (iv), (i)

(©) i), (), (v), (i)
D) (), (@), i), (iv)

Arrange in chronological order the names of Maratha Subedars :
(i) Keshav Govind

(i) Yadurao (Yadavrao) Divakar
(iii) Vithal Dinkar

(iv) Bhika Gopal

Choose the right option—

(A) (@), i), (i), (i)

(B) (i), (i), (iv), ()

(C) (i), (@), (i), (i)

D) (i), (@), (i), (@)

1933 § Tt T o 23 F fAT I R 9 TSHHR HieS F W™ & AH
%

(A) forg fogd (B) &. ¢, wie

(C) wa. . ol (D) T&. TH. &

Name of the Principal of Rajkumar College who invited Gandhiji to deliver a speech
in 1933 is :

(A) Smith Piers

(B) T. A. Scott
(C) H. M. Larri

(D) L. S. Carry

[37] CQRP- 1



T T T T

N AL T WLy S - e RS

. TGTE ¥ frafafes goER-T ® ST gERE! § Ak y

TUTE-U
(a) R
(b) e
(c) w=m
(d) TegEw
wEt fawew gfig
@ &
(A) Gy ()
B) v G
(©) (v) (i)
(D) (i) (iv)

e
(i) I 9ER
(i) AFIT ER
(iii) FHearene a9
(iv) % gaqg F4i
(© (d)
@@ ()
G @)
O ()]
) (1)

Match correctly the following Newspapers of Chhattisgarh with their Editors :

Newspaper
(a) Suryoday
(b) Alok
(c) Prakash
(d) Haihaivansh

Editor
(/) Uday Prasad
(i) Yadunandan Prasad
(iif) Kanhaiyalal Verma

(iv) Keshav Prasad Verma

Choose the right option ;

@ &
(A) Gy ()
B) v ()
©  Gv) (i)
D) @) (i)

() ()
(i) (iv)
(i) (i)
0 ()
(i) @)




@ caE E”'*mﬁ"m, 1942 H) FrORR fF T FAE H I w@E 9

qﬂfﬁﬁ aﬁﬁ‘“{:
ar

(@) TFS 7

(b) TEATEY SR

(c) wevfde wmgm

(d) =t a%. Ty

wE fadey gfm—

@ &) (0
(A) @) D @)
B) @) @) ()
© @ ™ O
M ™ @

o

(i
(i) TIR
(i) BT
(iv) faemaq

(@

(iv)

(iii)

(iii)

(iif)

Match correctly the leaders who were arrested during the Quit India Movement on
9th August, 1942 with their places :

Leader

(a) Yakub Ali

(b) Harnarayan Bajpai

(¢) Laxmansingh Deshmukh

(d) V.Y. Tamaskar

Choose the right option—

(A)
(B)
(C)
(D)

(a)
(if)
(1)
(ii)
(iv)

B ()
(iy (i)
(i) (iv)
(v) )
(i) ()

Place
= () Durg
- (i7) Raipur

(iii) Bemetara

- (iv) Bilaspur

(d)
(iv)
(iii)
(iii)
(iif)

[39] CQRP- 1



64.

65.

“Wm,mm,@ﬁm%mmﬁmw

s Yofifs 5 et @ g8 HoA fhwa § 7
(A) T, Sf==3 (B) fad @
(C) fq. fewm (D) fu. T

m, arrangement of land, the existence of

“Due to geographical situation, social syste _
» Whose statement is this?

Zamindars in Chhattisgarh remained natural and inevitable.
(A) Mr. Jenkins (B) Richard Temple

(C) Mr. Chishom (D) Mr. Agnew

fedtr wfra srmmn st § qo@ W g Q@ ¢ T THEE B Fe fRER
™I ?

(A) 12 wal, 1932 (B) 16 W=, 1932

(C) 19 1=, 1932 (D) 13 5[, 1932

When was Dr. Radhabai arrested while leading procession in the Second Civil

Disobedience Movement?
(A) 12 February, 1932 (B) 16 March, 1932
(C) 19 April, 1932 (D) 13 June, 1932

frerfefan § @ # ToHia % T feE # e ¥ e w2
(A) T ¥

(B) gHeE YA St

(C) R AR fde

(D) =ered e fag

Who among the following is mot associated with the establishment of National
Vidyalaya of Rajnandgaon?

(A) Rajulal Sharma

(B) Padumlal Punnalal Bakhshi

(C) Thakur Pyarelal Singh

(D) Baldev Prasad Mishra

[40] CQRP -
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67. BUETE % wEwm 20202021 ¥ ez W wES W IE FACE ¥

L e =
(a) Hfa S () 0.75%
(hy == (i) 4.61%
(c) =@m (ifl) —~5.28%
qafem Fifm—
@ B (o

(A () G (i)

B ) G (D)

C©) @ @) (7

D) @) (@) ()

The GDP of Chhattisgarh estimated in the Economic Survey, 2020-2021 of

Chhattisgarh is :

Area Growth Rate
(a) Agriculture () 0.75%
(b) Service (i) 4.61%
(¢) Industry (iii) —5.28%

Match correctly—

(@) () (o)
(A) () (@) (i)
B) () i) ()
) Gy iy (1)

(D) i) (d) (1)

[41] CQRP- 1



68. wtwTE ¥ yarfed ‘s T ¥ ey A fre el @ dgEl e e 99
() == Igm HiERe # e @ @ €
(i) T 7R W Fed SowwE oEfen §
(i) & T T & ww W 9§ frer ot &
SWH §F ¥ -1 sy wdt 22
(A) O &k Gi)
B) (@) AR (i)
© @ i Gid)
D) @, i) 3R (iii)
Read the following statements related to ‘Banas river’ flowing in Chhattisgarh and
choose the correct option :
() It originates from mountains of Manjhatoli
(i) Kotari waterfall is situated on this river

(iii) It joins Son river near village Dembha
Which of the above statements are true?
(A) (?) and (i)

(B) (ii) and (iii)

(C) (¥) and (iii)

(D) (9), (if) and (iif)

[42] CQRP- 1



69. T ¥ = wa gafea #if

(@)
(b)
(c)
C)

“(A)
N

i
W)

U Y TS

TEE EHYE HEH

fram witfim ot

FA SEYH
@ & (©
G G G
@ @ 6.
@ G @)
@ @ i)

() sHET
(i) e
(i) T&R
(iv) Tt
(d)

(iv)

(i)

(iii)

(v)

Match correctly the famous places in the State :

(@)
(b)
(©
(@)

(A)
(B)
©
(D)

Tomato Capital

Rice Research Institute

Kishan Shopping Mall

Kosa Research Center
@ & ©
@ @) @)
@ @ o0
@ @ W)
@G @ i)

(/) Rajnandgaon

(i) Ludeng
(iif) Bastar
(iv) Labhandi
@
()
(iii)
(iii)
(v)

[43]



3 TR |
70, waw (A) : T 2017-18 & Ff e =& A (-10.90%) T

W(R):ZOI?-]Sﬂ?éWﬁéﬁﬂmﬁ?[ﬂl%ﬁ% s
(A) ﬂﬁW(A)uﬁim(R)m%lwm)m(R) mﬁ :
(B) fﬁW(A)Q‘q‘m(R)w%um(A)W(R)aﬁm Ca)

(C) W(A)aﬂtm(mﬁwaﬁ%
(D) S9= #§ | g &

Statement (A) : Very little agricultural growth (=10
year 2017-18.

Cause (R) : Many Districts were facing the problem of drought in 2017-18.

(A) Statement (A) and Cause (R) both are true. Statement (A) explains the
Cause (R)

(B) Statement (A) and Cause (R) both are true. Statement (A) does not explain the
Cause (R)

(C) Statement (A) and Cause (R) both are not true

(D) None of the above

90%) was recorded in the

71. fagom ad, 2019-20 # www: few @ A waifuw 9 wa@ 9 99 @0d &t © (F
faum & FIER) ?
(A) WieriR-=iu, gaaret
¥B) faemag, Sarer
(C) IsiR-=g], TREU
~«(D) YHHl, TREOG
In which district respectively the maximum and minimum paddy was procured in the
marketing year 2019-2020 (according to Agriculture Department)?
(A) Janjgir-Champa, Dantewada
(B) Bilaspur, Dantewada
(C) Janjgir—Champa, Narayanpur
(D) Dhamtari, Narayanpur
A [44] CQRP- 1




72. W @ & AR A wh-w wo @ Wl 22
(A) Wﬁiﬁﬁwzmﬁ@ﬁaﬁwmwmﬁ@aﬁmmm“ﬁﬁ
WU SR ‘
/B) T fidl R i A w3 o
(€) w9 fird ¥ ok = wrn arfvrss @t
/(D) 39 g ¥ @ &t umn afuw ot ®

Which of the following statements is not true about Matasi soil?

(A) This soil is usually found at altitude higher than that of Bhata soil and lower
than that of Kanhar soil

(B) This soil is less fertile than Kanhar soil

(C) Iron content is high in this soil

(D) Sand content is high in this soil T 0

73. Frefafaa s #1 @FgES e R w8 IW I
N @ﬁ\wwﬁmﬂﬂn%quﬁaﬂﬁl
(ii) ﬁmw%asmﬁuaifwﬁmﬁ@aw%l
V@ii)@ﬁwﬂwﬁgﬁﬂmmﬁa%ﬁmhmw%n

FA-/FA-Q FYT TE 2/ ?
(A) Faa (i) T (i) (B) ¥ (ii) T (i)
(C) = (i) W (iii) (D) Faa (i)

_ Read the following statements carefully and choose the correct answer :
(i) There are about 37.46 lakh farming families in the Chhattisgarh State.
(ii) Agriculture sector has the highest contribution in GSDP of the Chhattisgarh
State.
(i) Agriculture is kept in primary sector in the Chhattisgarh State.
Which of the statements is/are true?
(A) Only (/) and (i) , (B) Only (i) and (iii)

~ (C) Only (i) and (i) (D) Only (i)
A [45] CQRP- 1
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74. ﬁmﬁwﬁgﬁ@aﬂﬂm@?ﬂmww 3 sy T wfed R

(1 mﬂmﬁﬁﬂﬁﬂﬁﬁmﬁ*mww

(i) S a1 vEen T ya & () g

(i7i) fiva wfem ya 87 &1 @3 41

Tt Frwen T

(A) (7). (i) 3 (iii)

(B) (i) 3R (i)

(€) ¥ (i)

(D) SR ¥ ¥ =% Tl

Which of the following statements is/are true?

()  After weakening of power of Satavahana dynasty, Vakataka dynasty established its
kingdom

(if) First king of Vakataka dynasty was Pravar Sen (First)

(#f) Vindhya Shakti was son of Pravar Sen

Choose the correct option :

(A) (i), (i) and (iii)

(B) (i) and (ii)

(C) Only ()

(D) None of the above

BHTe & UM F fFE fEe #2001 F diferd @ (Shamd ) wem e

75.
T #?
(A) WTE¥E A (B) gt
(C) Srrgd (D) &9 s
Which variety of paddy of Chhattisgarh has been granted the Geographical Index Tag
(G.I. Tag)?
(A) Badshah Bhog (B) Dubraj
(C) Jeeraphool (D) Tarun Bhog
A [46] CQRP- 1



7amﬁnmh%mﬁﬂmwmmMWmﬁmmmt

(a) fawrd wmwe §

(b) fafta wmei o

(c) s mmal |

(@) it # R & dey A

9 Ry T He A A GE IW H TG HfC—
(A) (a) 3T ()

(B) (b) ¥R (c)

©) (B), (¢) ¥R ()

D) (a), (b) R (o)

The State Government controls over urban local bodies :

(a) in legislative matters

(b) in financial matters

(c) in personnel matters

(d) in respect of citizens’ grievances

Select the correct answer from the codes given below—
(A) (a) and (b)

(B) (&) and (c)

(C) (b), (¢) and (d)

(D) (a), (b) and (c)

[47]
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77. 2 A am feg T E1 T W I (A) S G A B (R) FETHE
FUT(A) : TR B we P 8w EEEn g 9% TR afgy
g s &
®UT (R) : a2 7 =1 7707 wonas yeid el wEHfd w1 gl ¢
SuE < T % wed ¥ Prafufan ¥ @ #h-w e #2
(A) THT #97 (A) @91 FRO (R) Ge & a1 %99 (A) F1 Gel TS FA (R) #

(B) < 7 (A) @on #R (R) wE) § W #YA (A) F TE WEHT FRO (R)
Tl #

(C) =¥ (A) ®et & g ®rW (R) 7o &
(D) =7 (A) 799 & Wg FRO (R) 6@ &

In the following questions, there are two statements. One is labelled as Assertion (A)

and other is labelled as Reason (R) :

Assertion (A) : Municipal corporations are formed in big cities having a definite

area and population.
Reason (R) : Urban administrations of big cities are very complex in nature.

In the context of the above two statements which of the following is correct?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation
of Assertion (A)

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct

explanation of Assertion (A)
(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

[48] CQRP- 1




(if)) TETR ST iy
L (iv) TS s wfgy
RERSLELE L B U TE I A
(A) () 3 (iv)
(B) (@), (i), Giii) R (iv)
©) @), (i) 3R (iv)
L D) (i), (i) AR (iv)

Which of the following has been provided in the 74th Amendment Act, 1992 of the

Constitution?

(/) Municipal Committees

(i) Ward Committees

(iif) Metropolitan Planning Committee

(iv) District Planning Committee

Select the correct answer from the codes given below-
(A) (i) and (iv)

B) (i), (i), (iii) and (iv)

(C) (i), (i) and (V)

(D) (ii), (iii) and (iv)
L e——

A [49) e
A



79. T faufaw § G sqedel w) gafew :

(a) T 4 fawfre w1 maw (@

ATHT 178

(6) o9 a1 ¥ snarm qen smersy (i) FT=T 199
(€) F= ¥ dg3-yy (iii) AT 168
(@) ‘fav fadms' %t oy (iv) T=BT 195

@ @& © @

A ) (i) (iv)

B @™ @ o w

© @oo W e
D) Gy @ ()
Match the articles related to

(a) Constitution of legislature i States

(b) The Speaker angd Deputy Speaker
of the Legislative Assembly

(¢) Salaries ang allowances of membersg

(@)  Definition of "Money Bijjj

@ & (o (@)
A G (ifi)

(iv)
B) () i () (sii)
© Gy ) (i
D) G i B ()

State Legislature -

(i) Article 178

(i)  Article 199

(iii) Article 168

(iv) Article 195




() O NS iRy _ o m TE

(b) TEET TS wfe e

(c) Jaraa iR gEwd ¥ dey R
H wE 98

(@ T T T i S  dm AT

Fe - '

(A) (@), (¢) 3R (d)

B) Fad (b)

©) (a), (b) ¥R ()

D) (a) ¥R (&)

Which of the following pairs is/are correctly m

) Rationalisation of Panchayat Statistics ~ —

(a
(b) Panchayat Raj Training

—

(c) Working Group on panchayats and

Co-operative

(d) Administrative Arrangement for
Rural Development and Poverty

Alleviation Programmes
Code :
(A) (a), (¢) and (@)
(B) Only (b)
(C) (a), (b) and (©)

atched?

V. R. Rao
A. S. Trivedi
S. D. Mishra

G. K. V. Rao

0 om® —
[51]
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I SR (R) hET T § .
81. aﬁamﬁqw%.wﬁwwm@

T (A) :, Foren =i R @ T T . o i
m(R);ﬁﬂwWﬁm%WWqﬁ ﬁ% g i
T T frg % o @ o ARl F R 4

mﬂaaaaa:f:ﬁaﬁﬁwﬁﬁﬁ-m“ﬂ%?

(A) < Fom (A) 7on Hrw (R) wE § qq FoUA (A) FTOWE TR FRO (R) ¢

(B) aﬁv‘fm(A)wm(R)uﬁ%ﬁ'ﬂTW(A)W“ﬁmm(l’x)
Tl ®

(€) =% (A) Wt & g wrw (R) To@ ®

(D) Fo7 (A) Te@ & W FW (R) e

In the following questions, there are two statements. One is labelled as Assertion (A)
and other is labelled as Reason (R) :

Assertion (A) :
Reason (R)

The District Judge is the highest judicial authority in the district,

¢ The District Judge has both judicial and administrative powers.

He has also SUpervisory powers over all the subordinate courts in
the district,

explanation of Assertion (A)
(C) Assertion (A) is true but Reason (R) is falge

(D) Assertion (A) is false byt Reasop (R) is true

A e — ——
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83.

(C) Te&awst
The main force formin

Government is -

(A) Planning Commission
(C) Chief Minister

8 the principles of the procedure for the work of State

(B) Minister
(D) Secretariat

ﬁﬁmmW%IQﬁaﬁm(A)mwﬁm(R)mw%:

PETA) = =T Wt g e W @ T v # e T

IR (R) = Mt Sfaum § qodt % i & forg fafers SeRafae 7@t 21

SHR N Tl F et F Prefafaa 4 @ wa ad 22

(A) T HT (A) T FRW (R) we & a0 P (A) P FE WLF FRO (R) B

(B) T FAT (A) T FRU (R) W ¥ W T (A) T W LI F (R)

&l ?

(C) ¥ (A) W€l § W FRW (R) o &

(D) ¥ (A) o T IGg HRU (R) W ?

In the following questions, there are two statements. One is labelled as Assertion (A)

and other is labelled as Reason (R) :

Assertion (A) : The courts are barred from enquiring into the advice rendered by
the ministers to the Governor.

- There is no provision in the Indian Constitution for the system of

Reason (R)
legal responsibility of the ministers in the States.

In the context of the above two statements which of the following is correct?
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of Assertion (A)

(B) Both Assertion ;
tion of Assertion (A) |
but Reason (R) is false

but Reason (R) is true

(A) and Reason (R) are true but Reason (R) is not correct

explana
(C) Assertion (A) is tu€
(D) Assertion (A) 18 false

g — CQRP- 1
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84. FO # vefedt 51 srfurmie wm T o

A) wRE
((C)) fremg (D) HHTTH |
| istributed?

i hills is d
In which district, the major portion of the Chhuri |
(B) Mungeli

(A) Korba
(D) Kabirdham

(C) Bilaspur
WWW@WﬁW, 2019—21$Wmﬁwmm

8S.
(TFR) frey & @ faaet 22
(A) 1.8
(B) 2.0
(C) 2.2
(D) 2.4
What is total fertility rate (TFR) in Chhattisgarh as per Fifth National Family Health
Survey, 2019-21?
(A) 1.8
(B) 2.0
) 2.2
(D) 24
86. ﬁwfaﬁaawﬁmvﬂﬁnmﬁ%mmﬁm%qmwm,mmaq
af=imal & ®WRE €2
(A) FrEdEREY B)
(©) farg D)
Which of the following archaeologica] gita ;
s 1s located adi
and has temples/monuments of Buddhism Hinduises ::dﬂ;e bank?of river Mahan
(A) Shivrinarayan B po ainism
ajim
(C) Sirpur
A [54 R
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. T T e 4

(A) TSN g
(C) VI wdy

(B) STaEg TETS!

(D) #w T

Where is origin place of Malger river?

(A) Bailadila hig

(C) Keshkal valley

(a) ] HHve

(b) STERH

(¢) <. %. wash

(d) Tl dhive
@ 0

(A)  (Gv) (i)

B) (iv) (i)

© O @)

@ @O G

The following cement factories are situated in which Tahsil of State? Correctly

match :

(@) Shree Cement
(b) Ultratech

(c) J. K. Laxmi

(d) Century Cement

(c)
(i)
(@)
()
(iii)

(@)
(@)
)
(iii)
(iv)

@

(B) AbUJhma[ hills
(D) Jhiram valley

. ffafas
58 @ﬁwwm%mmﬁm%?wm’

() e .
(i) Ta==
(i) T
(iv) TEEESR

Ahiwara

(i) Tilda
(7ii) Simga
(iv) Balodabazar

@) ) (c) (d)
@A) @) i) (i) ()
® @ @ O @
© o G @
o @ @ @ _®

A

[55]
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@e WUgR #
(a) (i) e
(b) TA-TRER (i) g
(c) it (iii) AT
@ TR (iv) T

@ ¢ © @
(A)  (v) @) (@) (i)
®) Gi) @) @ (ii)
©) Gy @iy W) (i)
@) ) G @ @)

Match the mineral deposits and areas found in Chhattisgarh :

Mineral Deposit Area
(a) Diamond (/) Latapara
(b) Limestone (ii) Jangda
(c) Manganese (iif) Jhipan
(d) Garnet (iv) Parsoli

@ & 0 @
Ay @) @) @) @)
@) @ O (i)
© @) G v )
M @ G W) (i)

o]

[56]



90. @'Iﬁquﬁﬁqﬁ}_“ﬁmmmmﬂwﬂm

-1

o -1

()

; (I W)
@ (i) = e
(b) =9 5 S i
S (iii) <@g wETET
(d) el -

(a) (b) (©) )
@A) G G @) )
B) () @) G @)
© G Gi) @) (v
@ & @ (@ 6

Match the following river given in List-I with the place of origin given in List-II :

List-1 List-1I

(River) (Place of Origin)
(@) Mand (i) Ludeng hills
(b) Banas (i) Sonbera plateau
(c) Jonk (iii) Devgarh hills

(d) Kelo (iv) Mainpat

@ ® © (@
Ay @i O (iv) (lf)
B ) - .60 (i)

© (@ (i) @ @
T N sy (iv) (iii)



91. Ffafen ‘Swsen’ &1 3w AT :

e 9w ¥ e, 3fe wew s
W T, R 7 @ R

(A) e (B) wad
(C)  sre1/frame (D) =
Answer the following “Janaula’ :

VT YE % g, 3fe wew e

W T, w7 @

(A) Kite (B) Air

(C) Soul/Spirit (D) Sun

92. Wga ‘gF’ fEw e F Hen s €2

F@WW:

" frer we faew

(A) 9 <nff | ge (B) %ue #I o/ 2
(C) sifm faofg (D) w&wa g

In what sense is the presented ‘Hana’ spoken?

Write the correct answer :

“d frer g faar”

(A) To ask three people (B) To defer judgement

(C) Final decision (D) To agree

A [58] CQRP- 1
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(B) vm = werr 9 figen

(D) 3w g
What does the Presented ‘Hangy’ signify?

Write the correct answer :
HW S % m ?ﬂTﬂ,
S T =)

(A) To be powerless (B) a hapless not getting any help

(C) To be careless (D) To be blind

FE ThaT {7 79 ‘SESen’ WY ot g s W Fafew o
" gfem, & wog O F e
(A) e (B) =&
(C) sfer (D) ST § ¥ H1g 7&

What may be? Understand this ‘Janaula’ and mark the correct answer :

u.@m’ﬁmgiﬂ#ww

(B) Wood-apple
(A) Coconut

(D) None of the above
(C) Egg




95. =1 wreaiw feg men @ sgya #?

“og wgmuRl wamT S S
R ST ST W { 9§
W eq F NISE U H
fom S & s & =et
T Y ¥ TR e
form g & wad W % L

(A) Faen T

(B) afew sve

©) T IH

(D) T4 A

From which story is the following poem quoted?

"'ag wEAAd e S S
N ST Y Wi
T A6 F HISH UH H
faq s & sl ¥ 9
T 9 F IR e
A faFr F @t an & "
(A) Kanvala Rani
(B) Ahiman Kaina
(C) Phool Kunwar
(D) Phool Baman

A [60] CQRP- 1



96. = =1 fruat ©2

"SR T8t TEE I B,

HE I9IT TN HY |
q o F uEe fweE,

T e fawn agn”

(A) THYER dwrg

(B) HF= wivE
(C) i w2
(D) i SgEne s

Whose composition is the following?

(A)
(B)
(©)
(D)

‘IR S8 WE 3N R,
T I HON FH |

q o % qFa TR,
& Sar fawsn agn”’
Rameshwar Vaishnav
Mukund Kaushal
Sushil Bhatt

Dr. Dadulal Joshi
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7. 'E@ﬁqmﬁmﬂm'%mﬂﬁw‘m

(1) Wmaﬁgﬁm1§aﬁ,2021ﬁﬁﬁm‘
gfufs &1 T8 ¥

(i) w0 o & fa & forg fea 7o T SAT i M e

9 g B
(iif) mm#mqmﬁw%@gﬁ—ﬁqﬁﬁaﬁwﬂm%ﬁm(CAMM)ﬁm

I9E fFa w1 G

(A) (). (i) 3R (i)

(B) (1) &R (i)

(©) () 3R (i)

(D) &= (iii)

What is/are true about ‘Mukhyamantri Vriksharopan Protsahan Yojana’?

(/) This scheme was started on 1st July, 2021

(if) Principal Chief Conservator of Forests is the Chairman of State Level Monitoring
Committee formed for the implementation of this scheme

(iif) Under this scheme, for installation of High-tech Nursery for tree plantation,
CAMPA fund can be utilized

(A) (i), (ii) and (iii)

(B) (i) and (i1)

(C) (i) and (iii)

(D) Only (iii)

[62]



98, T SARN YWHR, 2021 3 wwary 3 Preffafiay F) g FIRA :
@ TR T () T e wg
(i) TEHw =l

(iii) T TERE qord

A ﬁwﬁﬁﬂw
(€) R Hirrm fifg qoapn

) T (v) € wew dvgE

@ ®» © @
LA O Gy )
® O @ v G
(O ) Gy @) )
® O G ) @)

Match the following in reference to Rajya Alankaran Purashkar, 2021 :

(@) Gundadhur Samman () Kumari Rohani Sahu

(b) Dr. Khubchand Baghel Samman (if) Mukesh Chaudhury
(c) Saheed Veer Narayan Singh Award  (iii) Janki Prasad Pulast

(d) Minimata Award (iv) Dr. Kalpana Deshmukh

@ G @© @
A O (iii) (i) (i)
B) @@ Gy (v (i)
© @ @ @ 0
™ & @) @) ()

< |
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99. Trafefan ¥ ¥ -2 7w vt gt T &7

()
(if)
(i)
(iv)
v)
J(A)

(B)
«(C)

9 (D)

WG drerr
@R e

Ry aa A

ymeE fywm dem
B G @) ()
@ ® O )
@ @Gy @) )
@iy @ v 0O

Which of the following pairs is not matched correctly?

Important Scheme

Related Department

(/) Sanskar Abhiyan - Health Department
(i{) Mukhyamantri Swavalamban - Panchayat and Rural Development
Yojana Department
(iii) Mukhyamantri Suposhan Abhiyan —  Women and Child Development
Department
(iv) Tirath Barat Yojana —  Urban Administration Department
(v) Samarthya Vikas Yojana —  Agriculture Department
A @ @ @) (@)
@ mm W O (@
© @ Gy v
@ Gy @ ) ) B
carP- 1
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. (© ﬂﬂw>maimﬁa>m}

L

TG 3 T 2020-21 ¥ 3R Freffan frell ®) Tfeenel # ERa I H

Wﬁqﬁmﬂw:

(A) ﬁﬁﬂ:anmbq .

(B) T > T TS > ARAR

As per Chhattisgarh Economic Survey, 2020-21, arrange the following districts in

decreasing order of Literacy Ratio of female :

(A) Korba > Rajnandgaon > Mahasamund > Narayanpur
(B) Rajnandgaon > Korba > Mahasamund > Narayanpur
(C) Korba > Rajnandgaon > Narayanpur > Mahasamund

(D) Rajnandgaon > Korba > Narayanpur > Mahasamund

&
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